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  = 1000mm 

 
 

- k = L  2.  Lk = 36  2 1 = 34m 
- k = 34m 

 Hc = 4000mm ; B1 = 400mm 

 
 

- 1 = 12,0m.  
-  

 H2 = Hc + f + 0,1 = 4,0 + 0,3 + 0,1 = 4,4m        
 

-  
  Hsd = H1 + H2 = 12,0 + 4,4 = 16,4m 

 

-   r = 0,2(m) 

mBHdct 75,06,06
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1  dct = 0,7m 

  Ht = H2 + Hdct + Hr = 4,4 + 0,7 + 0,2 = 5,3m. 

 
 

 

-  
Hd = Hsd  Ht + H3 = 16,4  5,3 + 1,0 = 12,1m.  
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-  hd = a +  = 0,5 + 1,0 = 1,5m. 
-  H = Ht + Hd = 5,3 + 12,1 = 17,4m. 
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k = 28m  
Hc = 4000mm B = 9600mm  B1 = 400mm  K = 

4600mm  Gxc = 430kN  Gct = 1700kN 
 P1max = 560kN;  P2max = 570kN;  P1min = 170kN ;  P2min = 180kN 
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Dmax = 1,1 0,85 [560 0,0933+570 (0,86+1+0,43+0,29)]=1423,86kN 

 
 

 
Dmin = 1,1 0,85 [177,5 0,0933+167,5 (0,86+1+0,43+0,29)]=419,54kN 
(Dmin = 1,1 0,85 [170 0,0933+180 (0,86+1+0,43+0,29)]=449,04kN) 
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he d 7,5,  

Mmax = Dmax e = 9,106775,086,1423 kNm 

 
 

Mmin = Dmin e = kNm655,31475,054,419  
(Mmin = Dmin x e = 449,04 x 0,75 = 336,78kNm) 
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Ki m tra kh  u l c c t b n m
n g i 2 bi t hf = 0,8cm; . 

wf = 18kN/cm2;  
 

 
 

12,33kN/cm2  14,4kN/cm2  

V i  

=  = 10,76kN/cm2; 

 

V i =6,015kN/cm2;  
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 b tb =16kN/cm2. 

 

 
 

Tra b ng B.4-TCVN:5575-2012.  
 bn = 5,6cm2.  

    

 


